[image: image1.jpg]121. Simplify:
a) (322 = (1/5)% 5 {(3)- d)xz
122.Find the reciprocal of : (i) (-3)8 ()¢ (i)(-115) +(1/5)2

123.Distinguish between the rational numbers 32/4 and (3/4)2 , which is smaller of the

two ?Insert 12 rational numbers between 32/4 and (3/4)2
124. Express -1/243 in power notation.

125, Write true or false for the following statements
i.(-3/5) 100 = 300 5100

1i.The reciprocal of (5/9 ) s (9/5)

i [(10)19]°0 =(100)10

iv. (30 +30) 9= 30 9%+ 30 %

v.(1)E=(-99)
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115, Find the angles x,y.z
B

13
A AN
= L A

116. Construct triangle PQR if PQ = 5cm, measure of PQR = 105° and measure of
£QRP = 40°

117. Express as a rational number p/q

a) Gy b) (51 9%
118. Simplify
a) (2/3)'x (-3/4p b) (-2)5 + (-1/3p

119, Express in power notation:

625
*hasa

120. Find the reciprocal of

B/73X(7/3)°




[image: image3.jpg]106. List 4 rational numbers between

107. The circumference of a circle is 31.4cm. Find the radius and area of the circle.

108. If ABC = AFED, under the correspondence, ABC « FED, write all the
corresponding congruent parts of the triangles

109. Express 432 X 270 as a product of powers of prime factors.

110. Simplify and express each of the following in exponential form

a) (597X 57 + 5 )

PSS

111. The area of a square plot is the same of a rectangular plot. If the side of the square
plotis 60m and the length of the rectangular plot is 90m, find the breadth of the
rectangular plot

112. Construct a right angled triangle whose hypotenuse is cm long and one of the

legs is 4cm long

113. Simplify
a) 2X3X25/9X4 b) (252X 7318 X7
114. Find x and y °
£
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